
 

 

system simplePABX 1(1)

SIGNAL HAbge(NATURAL),HAufg(NATURAL),Flash(NATURAL),Taste(NATURAL,NATURAL);
SIGNAL Ton(NATURAL,Charstring),Ruf(NATURAL),NoRT(NATURAL);
SIGNAL akt(NATURAL),pas(NATURAL),et(NATURAL),wzi(NATURAL,NATURAL);
SIGNAL wz(NATURAL),bz(NATURAL),fz(NATURAL),rz(NATURAL),no(NATURAL);
SIGNAL verbinde(NATURAL,NATURAL),trenne(NATURAL,NATURAL);
SIGNAL verbunden(NATURAL,NATURAL);
SIGNALLIST toSIG=HAbge,HAufg,Flash,Taste;
SIGNALLIST fromSIG=Ton,Ruf,NoRT;
SIGNALLIST toCC=akt,pas,et,wzi;
SIGNALLIST fromCC=wz,bz,fz,rz,no;
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block CallControl 1(1)
SIGNAL aAkt(NATURAL),aWzi(NATURAL,NATURAL),aPas(NA
SIGNAL bAkt(NATURAL),bWzi(NATURAL,NATURAL),bPas(NA
SIGNALLIST L1=aAkt,aWzi,aPas,bAkt,bPas;
SIGNAL wrtTab(NATURAL,PId,tlnRole);

NEWTYPE tlnRole
LITERALS a,b,f
ENDNEWTYPE;

NEWTYPE callStates
LITERALS ruhe,vw,bes,ziw,zir,zig,zib
ENDNEWTYPE;

NEWTYPE callTabelle STRUCT
cState callStates;
aTln NATURAL;
bTln NATURAL;
ENDNEWTYPE;

NEWTYPE tlnTabelle  STRUCT
inst PID;
role tlnRole;
ENDNEWTYPE;

SYNTYPE index=NATURAL
CONSTANTS 1:4
ENDSYNTYPE;

NEWTYPE tlnTabellen ARRAY (index,tlnTabelle)
ENDNEWTYPE;
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Block CallControl

SIGNAL aAkt(NATURAL),aWzi(NATURAL,NATURAL),aPas(NATURAL);
SIGNAL bAkt(NATURAL),bWzi(NATURAL,NATURAL),bPas(NATURAL);
SIGNALLIST L1=aAkt,aWzi,aPas,bAkt,bPas;
SIGNAL wrtTab(NATURAL,PId,tlnRole);  

 



(1,1);
SIGNALSET pas,akt,wzi;

process Manager 1(1)
DCL REVEALED tTab tlnTabellen;
DCL x,y NATURAL,inst PId,role tlnRole;

tTab(1)!inst:=Null,
tTab(2)!inst:=Null,
tTab(3)!inst:=Null,
tTab(4)!inst:=Null
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(0,4);

process CallControl 1(2)

DCL REVEALED cTab callTabelle;
VIEWED tTab tlnTabellen;
DCL x,y NATURAL;
TIMER tWZ:=1000, tBZ:=2000,tRZ:=2000;

cTab!cState:=ruhe
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aAkt(x)

cTab!cState:=vw,
cTab!aTln:=x
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/*set(tWZ)*/

VW

aPas(x)

reset(tWZ)
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(0,4);

process CallControl 2(2)
B

wrtTab(y,SELF,b)

cTab!bTln:=y,
cTab!cState:=zir

fz(cTab!aTln)

rz(cTab!bTln)

/*reset(tWZ);
set(tRZ);*/

ZIR

aPas(x)

reset(tRZ)

no(cTab!aTln),
no(cTab!bTln)

wrtTab(y,Null,f)

tRZ

no(cTab!bTln)

A

bAkt(x)

cTab!cstate:=zig;
reset(tRZ);

no(cTab!aTln),
no(cTab!bTln),
verbinde(cTab!aTln,cTab!bTln)

ZIG

aPas(x)

bz(cTab!bTln),
trenne(cTab!aTln,cTab!bTln)

/*set(tBZ)*/

WaitOfPas

bPas(x)

trenne(cTab!aTln,cTab!bTln),
wrtTab(x,Null,f)

x:=cTab!aTln
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/*reset(tBZ)*/

no(x)
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